Concepts students should know before entering 6t Grade Transition/Math 6:

Students should be advanced at these concepts:

Directions: Complete the following problems. MO CALCULATOR!

21 11
19
IE] RUG
34 02 10
-36 -2 -10
0 0 0
11 2
12)732 8]16 )80
12y -16 -84
12 0 00
-12 -0
0 0
r4 )_7 72
9)36 6)42 2144
=36 =42 -144
0 0 04
-4
0
57 17
14 2W 6)102
-10Y -6 -6y
14 10 42
-14 - 10 - 42
O O O
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Order of Operation

Directions: Simplify the following. Remember your PEMDAS rules!

You can remember the order by saying :

PEMDAS Rules

Please Excuse My Dear Aunt Sally

a X u i d u
Evaluate the problem in the following order: r p | v d b
e o t i i t
i t
1) P - Parentheses :‘ 2 'p f' ; ;
h n | o o c
2) E - Exponents (Powers and Square Roots ) e t i n n t
s s c i
3) MD - Multiplication and Division ( Left to Right) e ':1 °
S n
4) AS - Addition and Subtraction ( Left to Right) L
n
13%x13- 4 +10 18-11+19x3
N 18— 11+57
bG-4+10 7+57
A 64
b5 410
(75
2.
24 -8x11+3 2+11x17-12
3x11+3 2+187-12
33+3 189-12
36 177
4 9+4x12+15 16x3-2+3
9+48 + 15 48 -2+ 3
57 +15 46 + 3
72 49
6. 16+9-10+5 16+ 2 +19 - 16
16+9-2 8+19-16
25-2 27 -16
23 11
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Mixed Numbers & Improper Fractions

Directions: Convert the following improper fractions to mixed numbers. Write your answer on the
line next to each problem.

y 2= % |e =% iy B 7m
2) %: RN %: 107 |12) ?: 4l
3) 3—51: 65 8) %: - 13) %: 9—
4) ?= e k= %: 73 14) %: 5
5 22= 7 10) = 4 15) = o

Directions: Convert the following improper fractions to mixed numbers. Write your answer on the
line next to each problem.

Ds3=_5 |& 257§ |1W9gs T
) 25=% |n3F=7 |1265= 5
3) 3%:_ b il =3 6%:_ I (=) 5%:_ =
4) 3%‘{ > | 9 5= T | 14) 0%= 2
5)93= 2 |10) od- o |1523= v
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Long Division

Directions: Complete the following problems. NO CALCULATOR! SHOW ALL WORK!!

1_ 619 2. 0510 3‘ 0503
5]3 095 3)1530 12]6,036
.30 iwl -604
~09 °2 U
2 06 Y:
45 o o
0
4 0509 =i 0775 6. 0928
9/4 581 7]5,425 87424
-45\ -_A._wl -_L2\l/l
08 52 22
-0 -49 16
81 35 64
-81 -35 -64
0 0 0
7 0808 8 0208 9. o907
3]2,424 11]2,288 6]5,442
-_24¢/l -224 ;SAQ/l
02 08 04
-0 -0 - O
24 88 42
-24 -88 42
0 0 0
10. 0707 11. 0520 12, 0801
8]5 656 3J1560 4]3 204
L5_6¢l 15\1/\L ;3_2\vl
05 06 00
- 0 - 6 -0
56 00 04
-56 -00 -04
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Coordinate System

Directions: Write the point that is located at each ordered pair.

Yy
1) (6,2) 0 2) (6,8) T A
10
9 N
3) (10,1) P 4) (4,5) E
- 8
7 x* IS
5) (9,7) S 6) (2,3) Y 6%
5 .E
4
J Q
7) (1,6) 8) (57) 3 . %
2
1 .U P.
9) (2,1) U 10) (7,4) I
- 0 1 2 3 4 8 9 10 > X
Directions: Write the ordered pair for each point.
y
A 11) N(. 10, 3 ) 12) X(. 4,4 )
10 F.
9 .M
. | 13)B(. 6,2 ) 14)L(.8,5 )
D
7 G.
H
6 . P.
15)2(. 5,5 ) 16) P(. 10 ,6 )
5 .Z .L
4 %
3 o 3 17)D(. 2, 8 .) 1M 7,9 )
2 ‘B
1 .K
2,3 . .3,6
0 1 2 3 4 5 6 7 8 9 10 »> X 19) J( 2 3 :} 2U)H( 3 :}
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Directions: Express each fraction as a percent.

8.8

foo = —22 %

TBD'D'= 19 o

_1%= 40 o

Directions: Express each decimal as 2 percent,

15 7
015 = d 0,07 = %
028 = T
B
- = %
0O1T=__1 & 008=__ 8 o 05=__950 g
09=__99 & 08=._80 g
Directlons: Express each percent as a fraction with a denominator of 100,
(53] .
53- = —_— e, i
* o0 7% oo 13% = 100
31 _15 _ 179
3% = 100 5% 100 79% 100
L
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Directions: Datermine the prime factorization of the following numbers.

| e

@
ol

Prime Factors
Axdxdxi] =88

24 |

20
cflo

Frime Factors
2%X2x2x3=24

) 54
27
ajo

Prime Factors

oX qXaxg =54

)

Prime Factors
2x 2% 5% 5 =100

100

Gj |

Frime Factors
2XK2X1 =44

80

\

2 25

cffo

Frimea Factors

2% 5%5 =50

Directions: Evaluate the following. You may use a calculator,

i . F = -
| {3)3 ) ’ﬂ[ﬂfi}@ | W@®@ =1

(7= (9)(4)(4) = 64

BY¥= (5)(5) =25

@7= (5)(2)(2) =8

LR = (1)(11) = 121

7= ()(7) = a9

(67 = (6)(6)(6) = 216

(9% = (9)(9) = 81
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Adding & Subtracting Decimals

Directions:Solve the following. DO NOT USE A CALCULATOR!!

[IRIRAH Add Decimals N m Subtract Decimals ——
Find the value of 3.9 + 2.45. Find the value of 8.6 — 4.55.
~ STEP1 Rewrite the problem \_u'ert'lcal[)" - 3.90 " STEP1 Rewrite the problem .\.rertic;ally _lglé(]
in order to align the decim_al + 245 in order to align the decimal —~ 4.55
points in each number. Add a po_ints in each number, Add a
zero t0'3.9 as a placeholder. zero to 8.6 as a placeholder.
STEP 2 Begin by adding the digits 3.90 STEP2 Begin by subtracting the : g“’
in the hundredths place. + 2.45 digits in the hundredths place.
. 5 Regroup 1 tenth as 10 hundreds
STEP 3 Add the digits in the é 90 so that you can subtract.
tenths place. Since + 2.45 STEP 3 Subtract the digits in the s
+4=13, regroup : _"-E ' tenths place. - Bﬁﬁ
10 tenths as 1 one. - = 4.35
STEP 4 Place the decimal point : . %
© i the arewer. Add the N :zg STEP 4 Place the decimal point in " E;a?
digits in the ones place. — = the answer. Subtract the - 4I55
g 6.35 digits in the ones place. —_
3.9 + 2,45 = 6.35 4.05
. | 8.6-4.55=405
A N .
1. P 2.
4.5% + 1.02 2.04 — 6.32 58 +0.26
- 1 ' 810 : 1
4.59 9.64 5.80
+1.02 -6.32 +0.26
5.61 2.72 6.06
65-37 % 0.4+ 861 > 3.28 — 1.09+
515 1 118
6.5 0.40 3.28
2.8 9.01 2.19
| 63—299 O 8.07 + 0.86
57+ 4.63 : ' ' ' 1
1 12 10
56 8.07
5.70 -3
+0.86
+4.63 -2.99 8.93
10.33 3-31 '
10. 11. — 12.
75 cog 7.02+7.3 5.33 — 2.68
: " 41213
6 1210 7.02 533
_5.98 14.32 2.65
1.22
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Finding Area & Perimeter of Rectangles

Directions: Find the perimeter & area of the shapes below. All work must be shown!! Please
follow the example problems for work we expect.

Coordinate Plane

4

A =bh A=g2
5 A =4(5) ! A=g A=bh
A=20u2 A=16u2 A =3(10)
A=30u2
P =2b + 2h P=4s
P =2(4) +2(5) P =4(4) P'=2b +2h
P=8+10 P=16u P =2(3) + 2(10)
P=18u P=6+20
P=26u
2 2
4[[ A =bh 3‘D A =bh A =bh
A=2(4) A=3(2) A=7(9)
A=8uz A=6u2 A=63u2
P=2b + 2h P =2b + 2h P =2b + 2h
P =2(2) +2(4) P =2(3) + 2(2) P =2(7) +2(9)
P=4+8 P=6+4 P=14+18
P=12u P=10u P=32u
A =bh o A =bh A=g2
10 A = 9(10) A = 8(10) A=5?
A =90 u2 A=8ou2 A=25u2
P =2b + 2h P =2b + 2h P =4s
P = 2(9) + 2(10) P = 2(8) + 2(10) P = 4(5)
P=18 +20 P=16 + 20 P=20u
P=38u P=36u
4
3 A =bh . A =bh A =bh
A=8(5) ' A =4(9) A=6(7)
A =40u2 A=36u2 A =42u2
P =2b + 2h P =2b + 2h P =2b + 2h
P =2(8) + 2(5) P =2(4) +2(9) P =2(6) + 2(7)
P=16 +10 P=8+18 P=12+19
P=26u P=26u P=26u
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Directions: Write the point that is located at each coordinate plane. Q

U
D4y _ 2) (3,-5) S hd
A
5.. . . \’!
» (51y 055 B A B A A
b et ES I S
2| B
< s # 49 & A ] : 4§ 8 ]
R AN
F
Fj) [-3'.3]. B) (-5,-2) G .,ﬁ B I D S Y R E
o F il -1
E o <] A
- R i
5 (2,1) 10} (1,2) Al D .| I ]
Y
Directions: Write the ordered pair for each point.
Y 3 1
T a3, 2 12) st2, 1)
1 1rA-q . Gu-
b i 3 11 13) D{2 30} w2,
: Py 1.0 &
%4 ) 4
-~z I K T 3 3 > s 6Ll 4 ) 16} Z{-l—-a:é...]
. [ -1
K
3 :
» 1 2] . 2
4 TR TR R T 7R, 2 1Al 4
Lq . - B R R - .
Y 19) ) (4, 2 20) F{2.,3)

Simplifying Fractions
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Directions: Simplify the following fractions.

e 3 30" ..

6 3 ([FHO s sl 2 (XSl 2 [tk (] 3

2 . .- L] DI o AR 0]

8 2 (20 5 |14 =2 (15 s |20 s
Adding Fractions

Directions: Solve the following problems. NO CALCULATOR! Put your answers in simplified form.

4 10 8 1 11 4
1;+Z— 25+§— 3.?4‘6—
12+1o_22_ 1 24 9_33_16 33+8_41_ 5
21 21 21 21 27 27_27; 27 18 18 18 18
=1—
6 12 4 7 2 8 12
LETRA 55 10 TR
6+3_ _31 8 7 1 40+132_172_37
12 U120 T2 10 10 10 55 55 55 55
10 2 11 6
3T P TE T
20 1_19_31 55+3_58_128 33 30 3
6 6 6 6 30 30 30 30 55 55 55
_114
15

Division Word Problems
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Directions: Solve each of the following problems. NO CALCULATORS!! SHOW ALL WORK!

1. Oliver played 2 rounds of a trivia game and
scored 982 points. If he gained the same
number of points each round, how many
points did he score per round?

2 rounds - 982 points
1round - 982 + 2 = 491

491 points per round

2. Roger has 365 baseball cards in 5 binders. If
each binder has the same number of cards,
how many cards are in each binder?

5 binders 2 365 cards
1 binder 2 365 + 5 =73

73 cards per binder

3. Chloe had 472 video games. If she placed the
games into 8 different stacks, how many
games would be in each stack?

8 stacks > 472 games
1 stacks 2 472 + 8 =59

59 games per stack

4. An ice machine had 480 ice cubes in it. If
you were filling up 8 ice chests and each
chest got the same number of cubes, how
many ice cubes would each chest get?

480 + 8 =60

60 ice cubes per ice chest

5. Faye is making bead necklaces. She has 606
beads and is making 2 necklaces with each
necklace using the same number of beads.
How many beads will each necklace use?

606 + 2 =303

303 beads per necklace

6. There are 545 students in a school. If the

school has 5 grades and each grade had the
same number of students, how many
students were in each grade?

5 grades = 545 students
1grade 2 545 + 5 =109

109 students per grades

Multiplying Fractions
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Directions: Solve the following. NO CALCULATORS!! Simplify your answer.

Example: 2 =9
3 X5=7?
ke the whol Itiply th Itiply th :
man:mbzrwaoe -i' t'::;;l n’gn};bteres 2x5=10 bo?:gmlemzmb(:rs 3x1=3 wre yltgur '13_0
fraction (numerators) (denominators) TeRA
Order of Operation
1 2 3
2 4 £ il p) 9 _
= X—== X =
3%x3 15 19
2 9 18
13 2 2 4 31 4 17197 19
1793 3 17455 5
3 Ll 4 5. 6.
b7 i 2 X —3_2;—: b ——g—=
16)(3 3 2><2—4 1 51_1_
1244 4 175 5 15171
—_—= Xs7== =
5 X 7 16 3 X 6 =
S}GX 1 _5 13X4_4_11
§X 1_5 1 " 168 8 1793 3 73
1 7 7
Example:ﬂ_x%:? i Xi= 10- H 2_[_:_})(_2_=
T reduce ar?:\:l:r 6 2 40 2
nrn:lergt’cl)rs 4 X 2 Lk § i l
b B8 4p" 5 13 3_3 120 21 _1
2672 4 240721 2
12. 13. 14
al L) [ 2| el 2 x 2=
7 X3 il 107 1
14 5_5 12)(61_1_1 15 21 1
7 %82 1a 16721 1 1276 1 1
—5xi= 15 1—5x§~= 16. gxl=l7'
1Nyl 177 6 9 il
15)(4 4 15 61 15 19 1 1 L
_— —_ = — — X — = — _— —_——_-=
5 1 5 17 61 17 1 1 1
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Directions: Simplify the following. Remember your PEMDAS rules!

B =4 x19+10- 1
Ny
Avia+lb=|
S

3B 40 - |
NN G)
8- |

1. 2x17+13x3-1

34+13x3-1
34+39-1
73-1
72

2. 4—-1+16x11+8

4-1+176+8

3+176+8
179 +8
187

3. 4—1+17x18+9

4-1+306+9
4-1+34
3+34
37

4. 18+14+2x18x 16

18+7x18x 16
18+ 126 x 16
18 + 2016
2034

5. 17x14+14-6x%x10

238+14-6x10
238 +14 - 60
252 -60
192

6. 17x10+-2—-1x%x12
170+ 2-1x12
85-1x12
85-12
73

7. 15— 13 +14x 9+ 19

15-13+126+19
2+126+19
128 + 19
147

8. 9x5—-1+8+15

45-1+8+15
44 + 8+ 15
52 +15
67

9. 18x11x12+3 -2
198 x12+3-2
2376 +3-2
792 -2
790

Finding Area of Triangles
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Directions: Find the area of the triangles below. All work must be shown. Please follow the example

problem for work we expect to see.

a
m 19 mm 13 mm
1 _ J
171
15 mm 17 mm
A= %bh )
1 A=3bh A=1bh
A=>(17)(10) ) :
A=;05)09) A=3(703)
A = 85in2
A =142.5 mm? A = 110.5 mm?2
-
‘|- zdflg [;[-m
9 km T7 mm
J 19 m
T km
_1 _1
=%bh A—th A=-bh
A=>(77)(24) A=2(19)11
A=2(2)(9) 2 > (19)(11)
A = 9 km2 A =924 mm? A =104.5 m?
T X i
52 ft 13 km l
J L 100 &
76 f 12 km
1
A=-bh A=!bh A=-bh
1
A= % (76)(82) A= % (12)(13) A= 3 (100)(81)
A = 3,116 ft2 A =78 km2 A = 4,050 in2
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Multiplying Decimals

Directions: Multiply the following.

#13 X 100 =30 6?>< 100 = 680 i4.196 X 100 = 419.6
n 1468 X 100 = 68
100 X 743 = 7,430 {400 . = 4,680 468 X 100 = 4
9.1X100 = 910 3.28X100 = 328 5095 X 100 = 509.5
Directions: Multiply the following.
18 X 1,000 = 1,800 21 X 1,000 = 2,100 9.097 X 1,000 = 9,097
27.4 X 1,000 = 27,400 1,000 X 10.81 = 10,810 274 X 1,000 = 27,400
Directions: Complete.
_ 10
1.2 = 012 X Y 360 = 36 x _ 10 438 = 438 % 10
- : 100 100
= 0012 X XY = 36 X ~ 438 100
=0.36 x 1,000 _ 0438 o 1,000
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Conversions

Directions: Convert each measurement.

Units of capacity

and gallons.

& fluid ounces 1 cup

2 cups | pint

1 pints 1 quart
4 quarts 1 gallon

Katya's thermos holds § pints.
How many cups does it hold?

This conversion table shows how to
CONVErt Ounces, cups pints, quarts,

Hannah's thermos holds 6 cups.
How many pints does it hold?

1.
. 8 . 4
cups pints pints gallons
5. 16 gallons 6. 5quarts 7. 36 cups 8. 72 pints
128 pints 20 cups 0 quarts gallons
9. 1quart 10. 240 fluid ounces 11. 7 quarts 12. 11 gallons
32 fluid ounces 15 pints 28 cups 88 pints
Units of length This conversion table shows how to
12 inches 1 foot convert inches, feet, yards, and miles.
3 feet 1 yard
5,280 feet 1 mile
1,760 yards 1 mile Neilika's rope is 3 yards long.

Brian's rope is 60 inches long.
How many feet long is it?

5 feet long

How many inches long is it?

B5%x3=9
9x12=108

S feet long
10& inches long

13. 36 inches 14. 6 feet 15. 12 feet 16. 6 yards
3 feet 2 yards 4% inches 18 feet

17. 4 yards 18. 5 yards 19. 15,840 feet 20. 3,520 yards

144" inches 180 inches 3 miles 2 miles

Convert 25 centimeters to millimeters. Convert 200¢ to dollars.
25x10= 250 mm 200+100= $2

1. 40 cm 2. 15cm 3. 30 mm 4. 100 mm

400 mm 150 mm 3 cm 10 cm
5. $35 6. $600 7. 450¢ 8. 150¢
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Word Problems

Directions: Solve each of the following problems. SHOW ALL WORK!

1. Ned bought 331 pieces of candy to give 2. Anindustrial machine can make 245
to 35 of his friends. If he wants to give crayons a day. If each box of crayons
each friend the same amount, how has 20 crayons in it, how many full
many pieces would he have left over? boxes does the machine make a day?

9R 16 12R5
35331 20[45
-315 20|,
16 45
ﬂ
9 pieces with 16 leftover 5
12 full boxes

3. Abox of computer paper has 1004 4. Robin had 771 pennies. She wanted to
sheets left in it, If each printerina place the pennies into 37 stacks, with
computer lab needed 39 sheets how the same amount in each stack. How
many printers would the box fill up? many more pennies would she need so

all the stacks would be equal?
25R 29
39 m _20R 31
37771
=78, -74),
224 -
195 31
29 -0
31
25 printers )
6 more pennies
5. Abuilder needed to buy 960 nails for his latest 6. Sarah received 541 dollars for her
project, If the nails he needs come in boxes of birthday. Later she found some toys
47, how many boxes will he need to buy? that cost 15 dollars each. How much
money would she have left if she bought
20R 20 as many as she could?
47|960 36R1
94, 15[541
20 -45,
-0 91
20 -90
1
20 boxes
$1.00
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Adding Fractions

Directions: Solve the following. NO CALCULATORS!! Show all work and simplify your answer!

Reading a Line Graph
1 1 1.
2 6 3T i 4? i
1? + 37 oyl
~2-1  eyB-n Em 12 3
‘x‘s le_'I m];i_n_&least | 4 4 4
LT |
49 11881 Tima | 11 Tl Lol |
35 3? I 35 a5
S AL A= 3 1 3.
2 & + 97 = 2; + 6T =
;35,2459 _ 17 12,5 17
42 T 42 42 42 20 20 20
2 1 4 1 1 5
4:—3“ + 4'6- = 3"2" + 33 =
44+41—8 35+32— 4
6 6 6 10 ~10 10
6. 1 ) 7.
23— - 18— = 1= - 47 =
1 1 19 5 4 8 B 815 4 8
232-182=5==57 10 10 J10 10
= 14—
10
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Directions: The graph below shows the number of fish caught in a day. Use the graph to answer the
questions.

Fishing Trip Results

A

Fish Caught
e e T N T IPC TN SO O o S RN

AM. 8 A M. 9 A M, 10 A M. 11 A M. 12 P.M,
Time

1) What time were the most fish caught? _11 AM

2) What time were the fewest fish caught? 10 AM

3) From 11 A.M. to 12 P.M. did the number of fish caught increase or decrease? Decrease

4) How many fish were caught at 9 A.M.? _ 8 fish

5) How many fish were caught at 10 AM.? _ 4 fish

6) Were more fish caught at 10 AM. or 11 AM.? _11AM

7) Were fewer fish caught at 9 A.M. or 10 A.M.? 10 AM

8) What is the difference in the number of fish caught at 9 A.M. and the number caught at 12 P.M.?
1 fish

9) What is the total number of fish caught? _39 fish

10) Were there at least 5 caught at 8 AM.? _ Yes

Squares & Cubes
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Directions: Evaluate the following. You may use a calculator.

= (LY )10) ' a2 = (Y1R)= 144

1. 3 2. X Q.
@ = (2)2)-4 ©)° = (9)(9)(9) =729 @’ = @)@ -
) A. o = 3 6.
@° = (@)@)=16 M = (77)=49 (12) = (12)(12)(12) = 1728

7. 2 Q.
(5)(5)(5) = 125 (6) (6)(6) = 36 8" = (8)8)=

1]
X

1]

3
()

Directions: Determine the prime factorization of the following numbers.

E\tumyif_
1) 60 ‘2) 80 3) 108
@5 N\ N N
?(i r’flﬂ’--""'::( O 40 54

3
& / / E: / E
i 20 27
@@Md\ ofx
H 10
e e O SO
:H—‘
, c Prime Factors Prime Factors
dxgx§x5=60) 2 %2 x2%x2x5 =80 2x2x3x3x3=108

Order of Operation
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Directions: Simplify the following. Remember your PEMDAS rules!

7x(5 x 10+4)- 7
Sy

Ty ( 5o-+d) -7
A

T Bd -7
N

38 -7

1. (8423-3)=(13-6)

(31-3)+7
28+ 7
4

2. (15— % (10+3)—4
12x13-4
156 -4
152

3. (16+4M+(11+15+05)
20+ (11 + 3)
20+ 14
34

4. (14+29-3)+20-2
(43-3) = 20-2
40 +20-2
2-2
0

5. (15418 —3) + (15 x 2)
(33-3) = 30
30 + 30
1

6. B+4)+(10+14+7)

12+ (10 +2)
12 +12
24

7. (12+22-2)+16-2
(34-4)+16-2
30+16-2
46 -2
44
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